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Check the guestion paper for fairness of printing. If there is
any lack of fairness, inform the hall supervisor immediately.

Unly blue or black ink must be used ta write and underline.
Pencil can be used to deaw the dlggrams,

(I} opsmen g afmrds@amn af i walssab.

(i) QwrBasin . prsng el saild daapn sHyenu ale ofenar
Seprheshss GG allsoe wilsnarups Bridg srogmayb.

MNote: (a) Answer all the questions
(b} Choose the most suitable answer from the given four alternatives

n

and write the option code with the corresponding answer

vgm# ~1 | Part—1 [15X 1=15]

LDL @smaengrmenea mflslnBaésne Asrapiy

) GlFflayhm Eavaging ) iy rmeTar Elarapding
@) pihemns Qegfayneilsrgiy ) Amratsig T

The fai that roizes LDL Cholesteral is

a) saturated Fal &) trams fa

¢} mono unsaturaied for d} cholesteral
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The silent kifler is

a} diahstes b} hypertension

ch mephritis d} ecirrhisis

ApEOuATD RreE e M At RS R, Es TSRk S LTSS
Syefliuens o nral el

) 1805 ® &) MRTP L ib

&) ek o efalp o) urr3arE

Which ensures legal profections to consumers against unfr trade practisesT

a) 1500 Melark by METP act

<) Vegetanon Mark d) Bargode

Sarphaiu el Burmdserar Sy s Sgd el R

G st g d Rourd Bl - {2} 14 mansur
(B} oL husinedr madfiySans - by 14 aj& T rudt
(W) ess B mui . (£} 26 paricui
) s Filyfay #lamo - (d) 15 1evid
o) (1) d, (il) e, ()b, {iv)a ) () &, (i) c, ()b, (iv)d
@) () a, i) b, (§) e, (iv)d #) (1) c. (i) a. (i) d, (v} b
Chouse the correct match of the given table
(i} World consumer Day - [a} 14" Movember
(i) Anti abesity Day . (b} 14™ Dctober
(iii) World Standards Day - {c) 26" Movember
(iv) World Diabetes Day - (d) 15" March
a) iy d. (i) c. {ii) b, (v} & B (1) &, () o, Gl by () d
&) (i} &, (i} b, {ii} c, {iv) d d) (e (s (Wd (Wb

SarEsiuc L s wHnnh sy gdhe Surmdssrar ol uilearg
BmtR OS5,

LN T DA umEs] Flangpseflar sy rear e e & O el na
arpemnin ©(R) e avallde 1fs gpdaluneran giad ey umial .
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For the given assertion and reason choose the cormect answer

Assertion : {A) Cotton is known as “King of fibres™.
Reason : (R Tt is impontant textile fbee in word.
&) Bodh A and R are true R explains A

b) Both A and R are tree but R does not explain A

o Only A i3 rue and R is false
dy A is fielse and B is true

ey Exaf] eirodna] ssoal Al gdd Fare Fiflengr sTHUEESE S sy il STTewT
o) wrdEd uhgit shpd

o) Lpen ey wmmi Sk mer

&) oL menwiiy Ehped e @Fudur@

o) ETEISA DI AT S

Muontessori system establishes the relationship between

a) Reading and Learning

b Senses and inteliect

) Physiqus and pliysical activity

d} Writing and drawing

Gar@dsiunie anpilhe Surmdsiornar Faprygssnar JETADAELS

(i} symaramue oo G mm s (8) swxrriga Fodsh Hrens finesdr

(B o e fli Bpdclurnmss (b) ppserenis Fpil, EHENT sflrrs
Bmbmi Fngdlen Gl odsimel
p_dram flmhsr

(i} eiflig adli SmlEmmdsd (€} mymads spemudgeirer Foen i
i mmn et vl lm s

(i) premg e Spodurgisn  (d) oo Soo

a) (i) d. (i) , (i) b, (iv) @ b} (1) &, (i) &, (i) b, (V) d
) (i) a, (i) b, () c, {)d d} iy &, (1) &, (i) d, (v b
Clisose the correct match of the given table
() Monochromatic - {a} Four huet equidistant
{li} Double complementary - (b7 Onedominant colour and 2 subordinate colours

that Tie on either side ofits
complemantary ool
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(iily  Spht Complermeniary - {g) Two adjacent colours and

their opposite colours

fiv) Tetrad - id} O hue colour harmaoy

a) (i) d, (i) g, (i} b, (iv) & b (i) a, {ii) e, (i) b, (v} d

c) (a, (i} b, (i) e, (iv)d d) (i) e (if) & (&) d, (v} b

GlarEastiun L s by wppil &Frerbaing G hmunrar pfanulsarg

GaitiosBis

wmpm A} g aluTurrdans s_maurdsl [Fudigic pod gedr Ggaryflal gpenet Faur
T,

arrasmin (R) Fartsdr  Eorhs pSarafluT s, EETHE BRI R
wen g Crumiisam saj, B8 Fa o eer & THLETE Eisss
Grou clnr (e

) Amprin R s swaow, RA @ aflar il D).

o) A i R e_@ianan, A g il adlardsalldme
&) A gangy g R e s

) A e B e_awee 'R e

Far the given assertion and reason choose the commect answer

Assertien ¢ (A} ~Emrepreneus are those whe-ereates.and runs a husiness,
Reason -~ TR] They betome own boss, pursae theirown idea and realise financkal

rewand.
a) Bodh A and R are tree R explains A by A aned 12 are true but B does not explain
) A is false and B is true d) Only A is tree and R is false

AwrFASLILLL Sy niih sererbdHg Gurmhserar ol ullsmardg

FpihElaHES

s Sprppibsea BEGASHATE auspmi iqewr gemasl g larsdlar
AT LS T

wrrsath - g Be Fai ggewiy Aot G LamSenar P TCTE D

) D iU ST S T

=) &rrerh sflumeng &HI Bam TS

[N E A aiflwimer

#) SrremAS hETe Sy HoDoaT S

For the given assertion and reason choose the correct answer
Amertion ¢ The Common disinfectant used in filiered water is Chloeine

Remson - Chiorine is & strong oxidant thet Kills many harmfial micro onganisms
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11.

13

a) Assertion ks correct Resson i3 wiong
b} Feason is correst Assertion is wrong
) Ressan for Assertion is corred

d) Assertion for reason iz wrong

apeirLadraflts Lggaihglaren gl T e wiugiyEs o malaers paTudTetiuilD
S LT &m o isiro i gl

) ol i ) Peuaflmm § Qur

) mrdiduryf *) pihd

To lay foundation for future leaming of preschoolers the medium of education must be in
a} English b} Forelgn Language

¢} Mather tongue d) Hindl

aihE speeoinbd uasTiin L ashaebser 9 Bad g Sl SminiuTed
s e B, ¥

B} Dy LI BETHELe ) pefer spamuwdiny

B) Sgrang DTy sy ) ull g SpeminciL

The style in Mower armangement (at produces o multi coloured mass effect is

a) oriental style by moderi stvie
) radittenal style d} floating armngement

airdBLr i i mewdm 1.026 & mmphi soasminfiag

o) wraiias mandue b ) Gararalld sacciue b
&) @gibuili) sadin b ) Lipm e sl i

Lactometer reading less than | 026 indicales

a) milk adulteration by ghee adulteration
¢1 khoa adulteration d dhal adulterstion

HACCP Gewdypemmubar sy wigsaflsdr sflacrsr paen

i} memerandlil | S ouig Renaames BT 5&

i) gk Blwsenersar sy ol jsenar # puey s

i) apbdlw S BoUnyHETT Ydrafsmar S By 5
) sy gemenar SES gLl SLESL

Vi sdlidrer SFusbmmer BliniagEmso

Wi Slrwsppenm LAy e s sl b e
i} BFmstpennoenes silurntdgsas.
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) (i), {iii). {i, {iv), (v, (i), {wi) ) ). Db (i), (7, (EH), i, ()

(1) (), (), (iv), (v, (), {vii) ) (i), (I, (Y, 0, (v, i), (i)
Arrange the seven steps of HACCT in cormect ooder

i1 Establish monitoring procedures
ii} Establish ceftical imiis

iii) Tdentify critical control polats
v} Conduct Hazard Analysis

¥) Eatablish corrective actions

vil Record keeping procedure

wii] Establish Verification Procedurs

a) (i (i, (i), (), (v, Qli], (i) by (b (v, (), {10, (Ri0), (v, (i)
) (i), (=), {iiip, {iv), (v}, {wid, (wii) o} i), (8, (W), 1), ), i), (i)

14, Rdranm mpusvsimar sdlumror s g8 R Hlriys.

L I TPLRTOT T ATVE ] f

‘ |
[ apsrdis maus | | Mosar mvawas |
) E )
) Fan i fink ) g usiar g EenpRwrd b
@) aflidle ) GBS engwd)

FHI the boxeas with the following given stitches. Mentioned below

| Basic stitches j

! !
!_ Temporary sdich I ‘ Permanent stitch ]
] [ Back stitch J
4} hemming b} Tailers tacking
) Whipping stitch d) Running stitch
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siphd Bprwrd urglisiul et Ferediar wannurE aydlals G ersallar
g_plds Ssibwirgs Blenaouild gl
=) e fsmasit o) Bmsw Snrl
&) Sl g w) mflfay Emrd
Which type of diszased person o not produce insulin or can not vse insulin produced by body
a) obesity ) heart disease
) nephriis d) dinbetes
LAl =2 1 PART -1

EwOUYT o) eranaBeigpin B allarrdsgma allenl o aflhe ok [6X2=12]

o) aflarr arar 24 &g 8 Crwers el wofss Fuewfie

@} Bsrlurh srihs alarrdsmmas 50 artgassemss Wl srod ala
LyeflEsa)ib

Note: (i) Answer any six guestions

16

7.

I8

18.

20,

21,

(i} Question No. 24 is compulsory.
(iii} Answer to theory questions should not excesd 50 words

diflgfla Gmrana sam gl o gajl Fess stdsamr e sagann yesnnsmer

ET (L SE.
Mame the blood glecose tesls used to diapnode diaketes?

60 suniy & smew i wefgads Frélsrima ubqib Birss syhsd e dwnge.
S e NETEsslUL Faawgn By fgler ey s ?
Whiat would be the sodium requirsment of 60 year hypertensive old man with Qulema?

T 1 E T T T TR S T A R T TP 2y 8
List the modifiable risk factors of heart discascs

Uipprasdr whmih Sl pfs el gy e o d oGl srpwdr earenar’
What is the role of antioxidants present in fruits and vegetables?

mpebrLrsirall wrasrardaafi o gt Frend esligdansrar Eswsisman sreamg

ermnF g e ?
List any two ways 1o inculcate creativity among children?

uiraf &g smes B e afimlog o ek fOo gy wgrs &mseu R ng -

HuamwioEisae,
South facing iz ideal for preschool, Justdie?
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Fiowmaladr of e, i Sl urar HDaperer Sl Snram BTN A_GTeTEL S

BTSN HTE STy Wil g T
Ramya’s rocim is with dark coloured wall, How can we make the room appear bigger?

ShEnrT Gl S Epnd Sriad Fldiars Furg mwan FTH
Ll o BxidoleF sdnrd s, Ui (i .
Many parents select center based care for their children in theeir abhsence, Justify

Syl pemerTeurileir Liefls smar BT,
State the main functions of entreprorsisr

Ll -3 1 PART =111

oy &) aGsgud 6 alarrdsemsg ol Sjsfifman [6 X 3 = 18]

Mote:

i ballswr sradr 33 &0 L runers afen il b ap.

&) Bsr_un® srigs afsrmssgmig 150 ars o gsonieg darwsh ol
Sy s @y L.
(i)JAnswer any six questions

(i) Question Mo. 33 is compulsory,
(iii_ Answer 1o theory questions should not exeesd 150 words

25,y gleows §Pylay S el TG erdiran? B geiuBhs e b

2,

27,

29,

aTarflels enshicnT o
What is prediabetes? Can it be reversed? If yes How?

Feok whnik Ldens Blpdsarang wileir gl Bl e iseh arar? =

imdsensr pri ahs & disafs LRI LI gl Bumih,

Bluse and preen are considered ps receding colours? Why? In which area we can use such
enlaurs,

Bevs fimr s prad ariregl Ggrd b gegr gy rhids A il Roflm &l

A iy Smee Havrianer o an_m BTRATERISRAT S1RE G nrs,
Raji a housewife is inerested 1o start a kitchen Earden. Suggest ber some medicinal plants,

Ssitfund shamrrdl myafinfi BTG WHBET Dk &rddfn 2 dml
Wlenmbs o omraysmer srBdhs A S GEL DT, odmvina 5 e s T
@15 (B ) i,

Dioctor has advised Kala to follow a low calcium diet 5 she suffers from calelum stones. What
foods would vou suggest her?

95-60% s Banflads Ll hgiem g apits lanar £l s HOrC g omoobledlf o

W WOLIE &5,
Suggesting of 55-60% calories improves glycaemin control. Justify
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W gaiGart mepd fdad dtdorugdd werm anpdif Eari o gpig i,
Whe can file a complaint in consumer redressal forum?

M e_mmmani urgisrds derunn oy aaflu Uigs e TIPS,
Enlist the simple steps w0 ensure food safety

. parusralield unl 8 b gpadn sydisrs. wilimes s Smgs. urL i g flenar

AU L (R B
Curriculum is an csseatial companent of preschool. Classify Curriculam

43 prid sdm Besw Sprd airned sy L ma,
How does fibre content protection againgt heart disease?

gyl 4 PART -IV
Sfemargg allenrssgnds i el walldsayb [5 X 5 = 25]

Anzwer all the questions.

M. ) GusirBurmer Slppaerd i Saiman iy erBgoay (@ msu Feoulerrd
Lr bl Birert. aynmd sdsums GeT oy SeiEsaT abaune
Sarmpiey gallfds Taarfio adrumsk o T
s}
5 ) -8B usenaruild airdialu ). s g Trirul b, o surtish dpsiv sretver
alleugriisenes @oluf B Srali urdss Goiepio.
ap Ritjesh working in IT department suffers [rom heart disesses As a friemd sugigest the type of
Fists to be inclided and fats to be avosded
{or}

b} Bread bought from a bakery was stale and rotten. What information should we book when
wi buy a bread pockst?

5. o) Buedl FrenaGuny Sen_sofisfmig senra v mwena i . ETE B smray
SlaTim s Buc B sk, aorgg b anud iy il spaagluy mrr.
wmdgrad Frdfurlariar o emray mepse sl s TR T T T
e T gl sreiry g ulnd S ek, erdn s ersesr B_aay mERFTEL il

{mysoauga)
) rvgf wnoms df g d 10 angirs mgul mdlord of 0 BesL sir s g
anrhis Sl Peéverd, Qrrgs o g sdrenusenar L,

a) Mary ate non-vegeiarian food from a read side shop. She 15 suffering from food poisoning
symptoms like nause, vomiting and stomach ache. Doctor disgonised as sabmonedla food
poisoning. Explain in detail the above food paisoning,

[ar}

b} Raju stays in & rented house for 10 years. Now he applies loan 1o buy a howse. Explaimn the
sifvasiages of oan houss,
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36, ) Ferenpu Gusl wpbessd nrsnar Suseruenh s aflarbss.

ar,

{meragm)

&) @odrenaruiii) vt Ll gereafit uhprEEmD ahuC Hararg. pme i
(T T Grafic u:'l]l:-my ST ST AT LR
a) Girls of today are women of tomogrow. Briel this statement with women empowenmet

(Or) :
b Many parts in Chennai face water scarsity, Suggest different ways 1o store rain water

effectivaly.

=) Fafluralli) Fuy S SRS anL diigfl s OLrarTrar Tt dawhena

Fumppaarrsl guenl aig e S g i, garrd valgrr Faadsrd Fufees

Benysaiiarrd e pogardsgdoat. wis Sy Aodsgslorudiufism.
(e ebomi e}

&) wparuerafuid myaaflunrs gphmssd spaeflu igds B Fu. aflud,

a] Ramani fashion designer prefers synthetie fibres for cine actress. Whereas Pavithra a
house wife pr:ﬂ:n: riatural fibres. Which fibre is better, Jastify
{or)
M} Preschool is a5 essential need of preschoolers. Explain?

38, o) Armugdli sar g i g Ay TR Geirm purihdiaa & dard. g

S e

o ‘pﬂ"‘
\C 5 x“\g

Qapmefli g bl srdrSaTeTaT Lig&dr adTLmE wlleella iy i,
[0 g5y
) allBarrdal ssbruant 18 awig Slroclo fyrndg Sl ayaispds SorEsser

p_fsmesdr @afualdm. Gusr mpimanils e fwusmear F5F G s ol i e iy

a1 L Eim e .
a) Sadhu is from remote village. He want to stant a small industry in bis village.

Enumerate ihie steps involved m starting a new amall industry
for
b} Wincdhini a L8 year obd village gitl. She is not aware of ber rights. Edwcate her about
the rights of & glel child.

o &
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